Water and Atmosphere Released Questions
1. Carbon dioxide, methane and nitrous oxide are all

a. Used in carbonated drinks

b. Greenhouse gases

c. Produced by gaseous cattle

d. Inorganic gases

2. Greenhouse gases are 

a. Mostly released from gardening sheds

b. Not a growing problem

c. Primarily argon and xenon

d. A natural part of the atmosphere

e. Always found in humid forests

3. The biggest human supplied gas to the greenhouse effect is

a. Carbon dioxide

b. Sulfur dioxide

c. Ammonia

d. Methane

e. Potassium chloride

4. What percent of the atmospheric gases is oxygen?

a. 8%

b. 21%

c. 36%

d. 78%

e. 58%

5. What is thought to produce most of the greenhouse gases?

a. Belching cows

b. Jet contrails

c. Fertilizers

d. Motorcycles

e. Burning of fossil fuels

6. The middle layer between the lower stratosphere and the thermosphere is called the

a. Troposphere

b. Ionosphere

c. Biosphere

d. Outer space
e. Mesosphere
7. Which process removes and stores atmospheric carbon in carbon sinks through physical and biological processes like photosynthesis?

a. Carbon sequestration

b. Denudation

c. Global warming

d. Temperature inversion

e. Volcanism

8. An air current found between 10-14 km above the earth’s surface in the troposphere that carries storm systems is called

a. Hurricane

b. Coriolis effect

c. Equatorial wind

d. Jet stream

e. Trade winds

9. Which gas is the second biggest additive to the greenhouse effect at around 20%?
a. Propane

b. Methane

c. Carbon dioxide

d. Neon

e. Helium

10. How many oxygen atoms does ozone have?

a. 1

b. 2

c. 3

d. 4

e. 5
11. Which of the following absorbs the greenhouse gas, carbon dioxide, in a big way?

a. Streams

b. Forests

c. Uranium ores

d. Cattle

e. Lakes
12. What are severe storms called in the northwestern Pacific Ocean and Philippines?

a. Tsunamis

b. Blue northern

c. Rainy seasons

d. Typhoons

e. Hurricanes

13. The Aurora Borealis and Aurora Austrailis are found in which atmospheric layer?

a. Troposphere

b. Stratosphere

c. Mesosphere

d. Thermosphere

e. Atmosphere

14. Which of the following is NOT true about acid rain?
a. It has been reported in the United States, Netherlands, Australia and Japan

b. It usually has a pH between 6-6.5
c. It can completely kill all life in a lake and has severely impacted over 11,000 lakes in the eastern United States

d. It can make the minerals in the soil less available to plants, especially Mg and Ca

15. What measures the rate of heat loss from exposed skin to the surrounding air?

a. Thermometer

b. Wind chill factor

c. Barometer

d. Wind shear

e. Seismograph

16. Which atmospheric layer can reach temperatures of nearly 2000 degrees Celsius?

a. Troposphere

b. Mesosphere

c. Thermosphere

d. Stratosphere

e. Toposphere

17. A class 4 hurricane has winds between 

a. 65-82 knots

b. 83-95 knots

c. 96-113 knots

d. 114-135 knots

e. Greater than 135 knots

18. The Intergovernmental Panel on Climate Change (IPCC) gathered over 200 scientists and national experts to work together to help countries create

a. Crop rotation schedules

b. Guidelines to atmospheric inventories across international borders

c. Acid rain guidelines

d. Green certificates for businesses

e. A communal resource management system

19. Circulating air and current patterns  affected by the earth’s rotation known as the 
a. Geomorphic cycle

b. Carbonization effect

c. Geosynclinical cycle

d. Coriolis effect

e. El Niño-Southern Oscillation

20. Which of the following statements is not true?

a. The greenhouse effect is a natural process that makes life on Earth possible with 98% of the total global greenhouse gas emissions being from natural sources and 2% form man-made sources

b. The United States in the main contributor to global warming

c. The Kyoto Protocol would have allowed the United States to increase its greenhouse gas emissions- primarily carbon dioxide, methane and nitrous oxide by only 2% based on 1990 levels

d. Effects of global warming on weather patterns may have an adverse impact on human health.

e. Global warming may increase the incidence of many infectious diseases.
21. Which has been the approximate rise in sea-level over the past century?

a. 2-4 inches

b. 5-8 inches

c. 10-12 inches

d. 14-16 inches
e. Greater than 16 inches

22. What is a condition that does NOT occur during El Nino-Southern Oscillation?
a. Trade winds blowing on the Pacific Ocean at the equator  push surface waters west and offshore
b. Down welling occurs off the North American and South American western coasts

c. Increased rainfall occurs across the western United States, southern tier of the United States and in Peru.
d. Plankton populations and fisheries decrease off the South American coast

e. The Midwest and Northwest have winters with more snowfall.
23. Depending on weather conditions, smoking three packs of cigarettes a day would be the equivalent of living in which city?

a. Los Angeles

b. Mexico City

c. Athens

d. Rome

e. London

24. If global temperature warmed for any reason, atmospheric water vapor would increase due to evaporation, which would increase the greenhouse effect and thereby further raise the temperature causing the ice caps to melt back making the planet less reflective, so that it would warm further. This is an example of 

a. Positive coupling

b. Negative coupling

c. Synergistic feedback

d. Positive feedback loop

e. Negative feedback loop

25. 550 parts per million would be equivalent to

a. 5.5 parts per billion

b. 55 ppb

c. 5,500 ppb

d. 55,000 ppb

e. 550.000 ppb

26. The circulation of air in Hadley Convection Current cells results in
a. Low pressure and rainfall at the equator

b. High pressure and rainfall at the equator

c. Low pressure and dry conditions at 30 degrees North and south of the equator

d. High pressure and wet conditions at about 30 degrees north and south of the equator

e. Both a and c

27. In the northern hemisphere, the direction of the currents  move

a. East to west

b. West to east

c. Counterclockwise

d. Clockwise

e. It just depends on the direction of the surface winds

28. Which mobile source of pollutant cannot be currently partially controlled by emission control technology?

a. Nitrous Oxides

b. Sulfur dioxide

c. Carbon dioxide

d. Air toxins

e. Particulate matter

29. What pulls warm Atlantic water north in the summer?

a. La Nina

b. Convection

c. El Nino

d. Coriolis effect

e. Gulf Stream Current

30. What is responsible for the cold waters of the Pacific Ocean

a. Surface ocean currents from Alaska

b. El Nino

c. La Nina

d. Density driven currents

e. Coastal Fog

Questions 31-36
A. Carbon dioxide

B. Carbon monoxide

C. Methane

D. Radon

E. Sulfur dioxide

F. Particulate matter

31. Is an important precursor to acid rain

32. Has a stronger affinity for hemoglobin than oxygen has

33. Has been implicated as the cause of as much as 15 percent of lung cancer cases

34. Is a flammable gas produced by landfills

35. Can be captured and stored in ocean sinks

36. Is the major pollutant that electrostatic precipitators are designed to remove from power-plant smokestack emissions

37. Ozone in the stratosphere is important to organisms at Earth’s surface because ozone molecules are very strong absorbers of
a. Infrared rays

b. Ultraviolet rays

c. Microwaves

d. Visible light rays

e. X-rays

38. Which would be the most effective in decreasing acid rain and acid deposition problems?

a. Using higher smokestacks

b. Reducing the use of fossil fuels

c. Developing acid-resistant crops

d. Adding lime to acidified lakes

e. Relocating power plants to areas of lower population density

39. Most data indicate that during the last 100 years, mean global temperature has 

a. Decreased by 5 degrees C

b. Decreased by .5 degrees C

c. Stayed the same

d. Increased by 5 degrees C

e. Increased by .5 degrees C

40. All of the following gases have been implicated in contributing to the increase in global temperatures via the greenhouse effect EXCEPT

a. Oxygen

b. Methane

c. Nitrous Oxide

d. Carbon Dioxide

e. CFC’s

41. Yearly Carbon dioxide levels fluctuate throughout the year. Which explanation most correctly explains this phenomenon?

a. Daily variations in air temperature

b. Daily variations in sea temperature

c. Seasonal variation in photosynthetic activity

d. Seasonal variation in ocean water temperature

e. Seasonal variation in human industrial activity

42. Which of the following substances is released by CFC’s and catalyzes a chain reaction that breaks down ozone in the upper atmosphere?
a. Carbon monoxide

b. Carbon dioxide

c. Chlorine

d. Sulfur dioxide

e. Methane

43. The main environmental effect of ozone depletion could include all of the following except

a. Lower food-crop production

b. Decreased concentration of carbon dioxide in the atmosphere

c. Disruption of the marine food chain

d. Increased incidence of skin cancer

e. Reduction of primary productivity in the ocean
44. The primary cause of the earth’s seasons is the

a. Constant tilt of Earth’s rotational axis 

b. Changing distance of Earth from the sun at different times of the year

c. Periodic wobbling of Earth on its axis of rotation

d. Changing relative position of Earth, its Moon and the Sun

e. Periodic changes in solar energy output

45. Although ozone in the stratosphere has been decreasing for years, ozone near the Earth’s surface is on the increase. This ozone near the surface is undesirable because it

a. Absorbs UV light

b. Has a different chemical structure than stratospheric ozone

c. Reacts with hydrocarbons to form CFC’s

d. Is a strong oxidant and respiratory irritant

e. Accelerates rates of photosynthesis in plants

46. Which of the following best describes the mechanism of the greenhouse effect in the Earth’s atmosphere?

a. Ultraviolet radiation from the Sun is absorbed by ozone gas in the stratosphere

b. Gamma radiation from the Sun is absorbed at ground level by dust particles in the atmosphere

c. Infrared radiation from Earth’s surface is absorbed by gases in the atmosphere

d. Cosmic radiation from deep space is absorbed by gases in the atmosphere.

e. Alpha radiation from the Sun is absorbed by water vapor in the atmosphere
47. The Polar Regions radiate away more heat energy than they receive from the Sun in the course of a year. However, they are prevented from becoming progressively colder each year primarily by the 
a. Absorption of ultraviolet radiation by snow

b. Transport of heat through the atmosphere and oceans

c. Concentration of Earth’s magnetic field lines at the poles

d. Release of latent heat to the atmosphere when the polar ice caps melt

e. Generation of heat by glacial movement

48. Which of the following will occur if the trend of global temperature increase continues

a. Night temperatures will decrease as day temperatures will increase

b. Tropical areas will become cooler than they currently are

c. Sea levels will drop due to increased evaporation

d. The incidence of insect born diseases will decrease

e. The troposphere will contain more water vapor due to increased ocean evaporation

49. Which of the following is a process that indirectly removes carbon from the Earth’s atmosphere?

a. Formation of carbonate deposits

b. Out gassing by volcanoes

c. Respiration by mammals

d. Respiration by anaerobic bacteria

e. Photo dissociation by UV light
50. Which most correctly explains the rise in sea level that has occurred due to global warming?

a. Increased precipitation

b. Increased cloud cover

c. Increased evapotranspiration

d. Thermal expansion of the ocean

e. Melting of permafrost

51. The combustion of one gallon of gas produces 5 pounds of carbon dioxide. Two autos are making a trip of 600 miles. The first car gets 20 miles per gallon and the second car gets 30 miles per gallon. Approximately, how much less carbon will be produced by the second car on this trip?

a. 300 lbs

b. 150 lbs

c. 100 lbs

d. 75 lbs

e. 50 lbs

52. The drop in stratospheric ozone levels in the Southern Hemisphere is most evident during which season?

a. Antarctic spring (October)

b. Antarctic fall ( April)

c. Antarctic summer (January

d. Antarctic winter (July)

e. Summer and winter 

53. Winds always blow from
a. Low to high pressure

b. West to east

c. High to low pressure

d. East to west

e. They vary with seasons
54. What two factors do you need to know in order to determine relative humidity?

a. Dew point and capacity

b. Absolute humidity and dew point

c. Absolute humidity and capacity

d. Dew point and temperature

e. Temperature and capacity

55. Which of the following is NOT true about a temperature inversion

a.  occurs when warm air is trapped between two layers of cold air

b. Occurs cold air is trapped between two layers of warm air

c. Occurs in valleys surrounded by mountains

d. Is common in places like LA, Salt Lake City, Sacramento

e. Helps to accumulate pollutants

56. Which of the following is NOT true concerning surface ocean currents

a. Caused by global winds

b. Help maintain the earth’s heat balance

c. Change direction depending on the season

d. Flow clockwise in the northern hemisphere and counterclockwise in the southern hemisphere.

e. May feel the impact of global warming

57. Where on earth are most of the deserts found?
a. 30 degrees 

b. 90 degrees

c. 0 degrees

d. 60 degrees

e. Both a and b

58. Global high pressure belts are associated with 

a. Dry and clear weather conditions
b. Rainy weather conditions

c. Warm weather

d. Cold weather

59. Which term most correctly defines the temperature to which air must be cooled to reach saturation 

a. Relative humidity

b. Condensation

c. Dew point

d. Capacity

e. Absolute humidity

60. Which of the following is not needed for ground-level ozone formation

a. Sunlight

b. VOC’s

c. Nitrous Oxides

d. Carbon dioxide from fossil fuel combustion
61.  Which type of soils would be least impacted by acid rain

a. granitic based soils


b. shale based soils


c. limestone based soils


d. clayey soils

62. The amount of dissolved oxygen in water depends on

a. Temperature
b. Water flow volume
c. Water flow velocity
d. Number of organisms using oxygen for respiration
e. All of the above
63. Turbidity is the measure of water’s 

a. Transperancy
b. Cloudiness
c. Chlorination
d. Coagulation
e. Flocculation
64. The least likely way microscopic pathogens, like e-coli, enter waterways is through

a. Untreated urban sewage
b. Farm run-off
c. Mining run-off
d. Family pet waste
65. The amount of open space between soil particles is called

a. Aridity
b. Saturation
c. Crystallization
d. Porosity
e. Lithification
66. When water soaks into the ground, it is called

a. evaporation

b. transpiration
c. infiltration
d. respiration
e. precipitation
67. Pollutants from agriculture, storm run-off , lawn fertilizers and sewer overflows are 

a. Point source
b. Open source
c. Nonpoint source
d. Easy to trace
e. Always absorbed by wetlands
68. Most streams follow a branching drainage pattern, known as

a. dendritic drainage
b. radial drainage
c. rectangular drainage
d. composite drainage
e. fractionated drainage
69. At the upper edge of the zone of saturation and the lower edge of the zone of aeration is the 

a. Bedrock

b. Lithosphere

c. Epicenter

d. Water table

e. Mantle

70. Which of the following is a disinfectant used in many water treatment plants?

a. Toluene

b. Arsenic

c. Vinegar

d. Chlorine

e. Ammonia

71. Aquifers that lie beneath layers of impermeable clay are known as

a. Unconfined aquifers

b. Confined aquifers

c. Dry aquifers

d. Fractured aquifers

e. Balanced aquifers

72. Which of the following is not known to cause water turbidity?

a. Plankton/algae

b. River rocks and gravel

c. Silt

d. Clay

e. Organic matter

73. Water covers roughly what percent of Earth’s surface?

a. 27%

b. 45%

c. 64%

d. 72%

e. 80%

74. All the land that drains into a particular waterway is called the 

a. Divide

b. Continental shelf

c. Watershed

d. Plateau

e. Water table

75. Most of the freshwater found on earth is in  the form of 

a. Ice

b. Rivers and lakes

c. Groundwater

d. Atmospheric

e. Oceans

Match the following qualities of water to their description

A. acidity

B. tubidity

C. dissolved oxygen

D. nitrates

76. caused by suspended particles

77. measured on the pH scale

78. decreased by the breakdown of organic wastes

79. causes eutrophication

80. The presence of high fecal coliform bacteria in a water source indicates that the water

a. Is safe to drink

b. Is safe to swim in

c. Contains too little oxygen to support fish life

d. Has been recently chlorinated at a sewage treatment plant

e. Has been contaminated by untreated human or animal waste

81. Of the following, which is the best example of a point source water pollution?

a. Factory effluent

b. Storm water

c. Acid precipitation

d. Agricultural run-off

e. Residential pesticide run-off

82. Approximately what percent of the earth’s water is freshwater?

a. 75%

b. 25%

c. 2.9%

d. .25%

e. .025%

83. The amount of sediment deposited at the mouth of a stream system is likely to be increased by the presence upstream of which of the following:

i. Artifical levees and embankments

ii. Dams

iii. Extensive natural wetlands

a. I only

b. II only

c. III only

d. I and II

e. II and III

 

84. Water supplies are distributed 
A. equally around the world.
B.  unequally around the world.
C. throughout the world.
D. None of these are correct.

24.  By the year 2025, it is projected that _____ percent of the world's population will live in water-stressed river basins. 
A. 28
B. 38
C. 48
D. 58

